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Verification of Body Growth Effect on Reinforcement Learning in a Simple Standing-up Task
Daiki KIYOSUKE, Masanori SUGISAKA and Katsunari SHIBATA, Oita University

Abstract : The authors believe that the body growth accelerates the learning of actions, such as
standing up in higher forms of lives. While, the slow learning is a serious problem in Reinforcement
Learning. In this paper, it was verified whether the body growth accelerates the learning in a simple
standing-up problem. It was shown that even though the pendulum could not learn to stand-up when
it’s arm was long, it could learn when the arm became longer from short state during the learning.
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Fig.4 Actor output (action) as a function
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Fig.7 Actor output (action) as a function
of the pendulum state (1:0.3 -1.0 )
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